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Question Number : 1 Question Id : 7715134776 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IS H HeR B I8 .. .onnn... & fau @

The purpose of camber in aerofoil is for

(a) @YU dgM/Increasing drag
(b) a9 9¢M/Increasing lift
(c) [dwe "eM/Decreasing lift
(d) @YU 9eH/Decreasing drag

Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134776 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TES § SR B 35 .......... o fau @

The purpose of camber in aerofoil is for

(a) @YU dgM/Increasing drag
(b) Tome §gM/Increasing lift
(c) fdwe "eH/Decreasing lift
(d) @YU UeH/Decreasing drag

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134777 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



A0 A RIS R S fean & o By fawe §

Lift is acting in a direction to the direction of motion of the body
(a) ddaad/Perpendicular
(b) THIGY/Parallel
(c) faadid/Opposite
(d) Iuddd d ¥ dls Aei/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134777 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

K K Rl R S fen o o Sl fowe §

Lift is acting in a direction to the direction of motion of the body

(a) ddgad/Perpendicular
(b) THIR/Parallel
(c) faadid/Opposite
(d) Swa H U@ Te/None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134778 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

NACA 002 dES B JCR ...o.on.n... 8
NACA 002 aerofoil thicknessis ............

(a) 4%
(b) 1%
(c) 5%
(d 2%
Options :

1.a



2.b
3.¢C
4.d

Question Number : 3 Question Id : 7715134778 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

NACA 002 dES B HER ...o.onnn... 8
NACA 002 aerofoil thickness is

(a) 4%
(b) 1%
(c) 5%
(d 2%

Options :

1.a

2.b

3.C

4.d

Question Number : 4 Question Id : 7715134779 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g WA-WR & &g 990 g Tol o, ol 9@ ........ T

If layers of fluids are not having frictional force between them ,then it is

a) M/Viscous
)

: YgHdTEH/Non-viscous
(c) 3EUTST/Incompressible
(d) A dB GH/BothA & B

Options :

1.a

2.b

3.c

4.d

Question Number : 4 Question Id : 7715134779 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



gfe TA-WR & &g 990 9 Tl §, al 9@ ........ 5

If layers of fluids are not having frictional force between them ,then it is

(a) ®H/Viscous
(b) TOFdRI/Non-viscous
(c) 3HUISd/Incompressible
(d) A dB GH/BothA & B
Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134780 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
~17e 3 STt TR 5 forw - W e o2

Which is not true for an ideal expansion in a nozzle ?

(a) wamw, JshHuila yaRU/ Adiabatic, reversible expansion

(b) R o ud ere H Rae / Drop in static temperature & Pressure

(c) 3fdes dIUWH Td &e W fRiae / Drop in stagnation temperature & Pressure
(d) e @1 Tioe w4 uitaad / Conversion of thrust to kinetic energy

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134780 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
Ao 3 e e & forg - e e 2

Which is not true for an ideal expansion in a nozzle ?

(a) v&mw, JspHuita YR/ Adiabatic, reversible expansion

(b) feRdmHH w e | fRrae / Drop in static temperature & Pressure

(c) fdeg dIUWH Td &re W fRiae / Drop in stagnation temperature & Pressure
(d) e @I ioe w4 uitaaq / Conversion of thrust to kinetic energy
Options :

1.a



2.b
3.¢C
4.d

Question Number : 6 Question Id : 7715134781 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AN’ & 9y a1 &1 91 3 Saed ag iRl ..... & ORE &
The air resistance generated by the movement of the vehicle with speed ‘N is
proportional to .............

(a) N’
(b) 1N
€ N
(d N

Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134781 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i N’ & Ty a1 &1 91 3 Saaed ag ekl ..... & e &
The air resistance generated by the movement of the vehicle with speed ‘N' is
proportional to .............

(a) N3
(b) 1N
(¢ N
(d) N2

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134782 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



.......... B! [l o & U gdeiR § U AR &1 W foodr o 8

Tail rotor in a Helicopter is used to control

(a) UHddH/Yaw
(b) d/Roll
(c) fo=/Pitch
(d) fowe/Lift
Options :

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134782 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.......... P! FHRT & & o glieiR | U= YR &1 IW foar o 8

Tail rotor in a Helicopter is used to control

(a) HadH/ Yaw
(b) d/Roll
(c) fO=/Pitch
(d) fome/Lift

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134783 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

% 14 o W faFmee | SRly &1 U quIdl ... ... & fou gl @

In shell and tube heat exchanger, baffles are mainly used to

(a) A & Y0 Bl §¢H/Increase the mixing of fluid

(b) I AR &7 Bl 9¢H/Increase the heat transfer area

(c) 3fesd = ¥ Wa @I falftd F1/Deflect the flow in desired direction
(d) <@ Ydg & URGUW @I DA $HI/Reduce fouling of the tube surface

Options :



1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134783 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R 04 e W faFmee § SRy &1 S qEIEdl ... & fow giar @

In shell and tube heat exchanger, baffles are mainly used to

WA & Y0 B! 9gH/Increase the mixing of fluid

a
:b: FH AR &7 Bl 9/ Increase the heat transfer area
(c) 3fedd femm I WA & fa&lfid &3/ Deflect the flow in desired direction
(d) &d ddg & Ui @l &Y HI/Reduce fouling of the tube surface
Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134784 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ga7 fomRuEiiadr ¥ didg foeRoicdl & U @ ... G& Bgl Il 8
The ratio of momentum diffusivity to thermal diffusivity iscalled ~ number
(a) Wigd/Prandtl
(b) =JHc/Nusselt
(c) dHl/Biot
(d) <ggH/Lewis

Options :

1.a

2.b

3.C

4.d

Question Number : 9 Question Id : 7715134784 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



G fomoficar ¥ dfig fowoRfiaar & sHua & .......... Y@ ®el 9l §

The ratio of momentum diffusivity to thermal diffusivity is called number
(a) Wigd/Prandtl
(b) gHee/Nusselt
(c) dHl/Biot
(d) UzY/Lewis
Options :
1.a
2.b
3.¢
4.d

Question Number : 10 Question Id : 7715134785 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e § 9 $H-91 agUH & JeFEd @ [T Bl 82

Which is the following controls the pitch of an aircraft

(a) U/Flaps
(b)  3i/Rudder
(c) SMUER®/Spoiler
(d) Jdid®/Elevator
Options :

1.a

2.b

3.c

4.d

Question Number : 10 Question Id : 7715134785 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e & 4 $H-91 a99H & HeFE @ Ol B 8e

Which is the following controls the pitch of an aircraft

) TiU/Flaps

) & /Rudder

) SUGR®/Spoiler
) 3dIdd/Elevator

Options:
1.a



2.b
3.¢C
4.d

Question Number : 11 Question Id : 7715134786 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g WRAYS SeHME M 8 Y1 ToRdRY Géfe 98%, <t fthfew, died afife o S e B ARl ... &
If the initial mass is M and expansion efficiency is 98%, the amount of propellant
trapped in fittings, valves etc.is ...................

(a) 0.98M
(b) 0.02M
(c) 0.20M
(d) 20M
Options :
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715134786 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g WRAYS SeHME M 8 Y1 ToRdRY Géfe 98%, <t fthfew, died afife o S e B ARl ... &
If the initial mass is M and expansion efficiency is 98%, the amount of propellant
trapped in fittings, valves etc.is ..................

(a) 0.98M
(b) 0.02M
(c) 0.20M
(d) 20M
Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134787 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ﬁ@%aq%wumw%m Tfe, 7 YR 9 2 & 00 § Gl § dl SfiGa S S
O ... |

For laminar forced convection over a flat plate, if the free stream velocity increases by
a factor of 2 the average heat transfer coefficient

(a) THEd &/Remains same

(b) 2 & dw@ Y uedig/Decrease by 2 factor
(c) 2 &d@Ydedi a/increase by 12 factor
(d) 479 dw@ Y dedig/increase by 4 factor

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134787 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ﬁ@%aq%wumw%m Tfe, 7 YR 9 2 & 00 § Gl § dl SfiGa S S

TS I

For laminar forced convection over a flat plate, if the free stream velocity increases by
a factor of 2 the average heat transfer coefficient

(a) T9H % §/Remains same

(b) 2 o d@ Y gedig/Decrease by 2 factor
(c) 2 & daYdedia/increase by 12 factor
(d) 49 dw@ U dedla/increase by 4 factor

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134788 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ar U WG S T b R ... 55 @I o A B Mawddl @

engine requires forward motion through air to produce thrust

(a) 9dR® Gg/Internal combustion
(b) dhe/Rocket

(c) ¥I/Steam

(d) He/Ramijet

Options :

1.a

2.b

3.c

4.d

Question Number : 13 Question Id : 7715134788 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a4 Wuile I & & g L. 59 @ 3 Tid @ AaRddl §

engine requires forward motion through air to produce thrust

(a) MA@ &g/Internal combustion
(b) be/Rocket

(c) %H/Steam

(d) YHwic/Ramijet

Options :

1.a

2.b

3.C

4.d

Question Number : 14 Question Id : 7715134789 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) % angfi f@Rar/ Low frequency instability

(b) = AGRT AR/ High frequency instability

(c) e Mg 3fRRAT/ Medium frequency instability
(d) SWFHISIS 5/ None of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134789 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) % angfy #f&Rar/ Low frequency instability

(b) Jd 3maf 3if&RAT/ High frequency instability

(c) W\ 3fqfd HRRRAT/ Medium frequency instability
(d) SWF T Y SIS Ta/ None of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 15 Question Id : 7715134790 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) HItR Feied 4 Figw vl § YgdatH/Correlates molar flux to concentration gradient
(b) IR W § AI0HT HauidiMolar flux to temperature gradient
(c) uTd famuDiffusion with density
(d) Swad 5 UL TEl/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134790 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



a) TR (e © iUl i A Fed/Correlates molar flux to concentration gradient
)

Eb HITR Wi ¥ dI0HH Havidl/Molar flux to temperature gradient
(c) ¥ fawuDiffusion with density
(d) 3udd ¥ Y BI5 TelNone of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 16 Question Id : 7715134791 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wigrH i &I feRd & fa, ._gire
For the stability of a floating body, the ................

JAIddhdl g Tocd by b Y HfcoT Bidl 3

Centre of Buoyancy coincides with Centre of Gravity
SEddhdl Bs Tod B3 4 SR §

Centre of Buoyancy is above Centre of Gravity

o $% Saaadhdl &% 4 FW &

Centre of Gravity is above Centre of Buoyancy
HETd g ocd b 4 FW 5

Metacentre is above Centre of Gravity

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134791 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



waH fis d RRA S fag, - _gdre
For the stability of a floating body, the ................

JIddhdl g Tocd by & WY HfcoTd Bidl 3
(@) Centre of Buoyancy coincides with Centre of Gravity
SETadhdl b Tod B% U SR &
(b) Centre of Buoyancy is above Centre of Gravity
o $g Saaahdl &% 4 W &
) Centre of Gravity is above Centre of Buoyancy
HETE % o g U SR &
(@) Metacentre is above Centre of Gravity
Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134792 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

BUTHD 0-qHY U ¥ G Uh 119 ] o SR [T i g, A g ... &l &

A gas having negative Joule-Thomson coefficient ,when throttled, will

(a) dsliBecome cooler

(b) H/Become warmer

(c) §HH dIUHH R &l g/Remain at same temperature
(d) 9% WHR W H1d 3/Depends on the type of gas

Options:
1.a
2.b
3.¢
4.d

Question Number : 17 Question Id : 7715134792 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



BUTED S0 U ¥ G Uh 119 ] o SR [T ol g, A g ... &l &

A gas having negative Joule-Thomson coefficient ,when throttled, will

(a) dslBecome cooler
(b) /Become warmer
(c)
(d)

YA T W Ed 3/Remain at same temperature
9 & UHR W H%d g/Depends on the type of gas

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134793 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I 1 PR TR SR o o G o ot K L et A K R
The thermal efficiency of an air standard Brayton cycle in terms of pressure ratio yp
andy is givenby ..............

Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134793 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



a9 3 yp T y & Ty ¥ a1 WG 9 I &1 A ge . gRI S I
The thermal efficiency of an air standard Brayton cycle in terms of pressure ratio yp
andy is givenby .............

1.~ T
(@ (r-fp)(f‘lﬂ:
Options :
1.a
2.b
3.cC
4.d

Question Number : 19 Question Id : 7715134794 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(-rafcife T A ¢ forg Fegam e FuiaaT 32

Which of the following configuration has the highest fin effectiveness ?

(@) Uit T SfaRielt i / Thin, closely spaced fins
(b) Uit gl W sferett %+ / Thin, widely spaced fins
(c) e, &t W afered! U/ Thick, widely spaced fins
(d) et T st 2/ Thick, closely spaced fins

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134794 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



rafofea demm 3 3 o geam i mafaa g2

Which of the following configuration has the highest fin effectiveness ?

(@) wadl T sfaRrelt i / Thin, closely spaced fins
(b) waet G W s i / Thin, widely spaced fin
(c) et gl w s U/ Thick, widely spaced fins
(d) Y, cme s B/ Thick, closely spaced fins

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134795 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

5cETY 1 Yo Ugel Hagdd idie 35H .3
The first Manned Space flight in history is .............

(a) diEi® 1/\Vostok 1

(b) ¥gef® 1/Sputnik 1
(c) @it 1/Appolo 1
(d) il 1/Shenzhou 1

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134795 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SfeTg @1 e Ugel HHagdd ke 35H .3
The first Manned Space flight in history is .............

(a) diEi® 1/\Vostok 1
(b) ¥gef® 1/Sputnik 1
(c) @it 1/Appolo 1
(d) g4l 1/Shenzhou 1



Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134796 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

G A0S G T - T E @ F e A o Sad1 § ; (@ SO )

Modules of Rigidity G and Youngs models E can be related as : (Poisson ratio p)

E
21~
E

21+
G

2(1-p)
G

E_Z(l-l-p]

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134796 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Todl e G WA - e E @ . afid A o Wadl & ; (@R 0 )
Modules of Rigidity G and Youngs models E can be related as : (Poisson ratio p)

E
2(1-p)
E

2(1+p)
G

2(1-w
G

E_2(1+m



Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134797 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R W & g PR 4 A A w2

Which of the following are true for a polytropic process

ﬁ :|: &J 1in

(a) Vi LP2
T_2= p_z,:|(n-1)fn
(b) Ti [F’H

T_E:[\L:Ilf”'”
(c) T1 LV2

(d) Iudad TAI of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134797 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



R o & R Fakifee 43 S wd 2

Which of the following are true for a polytropic process

ﬁ =|: &} 1in
(a) Vi LP2

T_2= p_l,:|(n-1ﬂn
(b) Ti {FH

E:M{”‘”
(c) T1 LV2

(d) ITF FHAIl of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 23 Question Id : 7715134798 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 AP &1 FHH T §U UiSd HR ¥ Jwdiicd 4G qd dafer SHMI & aR o™ &l 194, 2
Ul Jemn o g, A1 {8 . B Ieh HEHH B

If the wire diameter of a closed coil helical spring subjected to compressive load is

increased from 1cm to 2cm, other parameters remaining same, the deflection will
decrease by afactorof .............



Question Number : 23 Question Id : 7715134798 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

31 ! B GHH T 5L s HR U Fwdiicd dfc qd peferl HAr b aR o @ 194 A 12
R 11 K | A At L SO ke o R G e U

|f the wire diameter of a closed coil helical spring subjected to compressive load is

increased from 1cm to 2cm, other parameters remaining same, the deflection will
decrease by afactorof .............

Question Number : 24 Question Id : 7715134799 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed 4 HH-dt 31v Rufd o s+ &1 uihar g2

Which of the following is a solid state joining process?

(a) 9 ETReA i dee/Gas tungsten arc welding
(b) wftRlY fdg des1/Resistance spot welding

(c) 9dUdeE/Friction welding

(d) % 3 des+/Submerged arc welding

Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134799 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fofafed 9 2.4t 3iv fufa ot s+ &1 ufpar g2

Which of the following is a solid state joining process?

(a) TR A1 de/Gas tungsten arc welding
(b) WY fdg dee1/Resistance spot welding

(c) =Hurdee/Friction welding

(d) 57 371 des+/Submerged arc welding

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134800 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

olg- BT ARG T4 A D1 o 31l it fopun g

The iron-carbon diagram and TTT are determined under ...............

(a) oA YR T o fRfd/Equilibrium and non-equilibrium condition respectively
(b) A 3 Td 9y fufd/Non-equilibrium and equilibrium condition respectively
(c) @i o ferw 9 Ryfd /Equilibrium condition for both
(d) &M & fere s Rifd/Non-equilibrium condition for both

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134800 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dlg- Pl ARG W AAA DT 1l uRkeiia feomn g

The iron-carbon diagram and TTT are determined under ...............

(a) A T UG g RUTI/Equilibrium and non-equilibrium condition respectively
(b) oA 3 Ud 9y fRufd/Non-equilibrium and equilibrium condition respectively
(c) &Ml fou W Rt /Equilibrium condition for both
(d) & o fere s f&ifa/Non-equilibrium condition for both

Options :



1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134801 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
wwﬁﬁﬁ@ﬁ%mmmw@ﬁaﬁmwwmwwaﬁw

G -

Similarity parameter which normalizes the convective wall heat transfer by the
external flow enthalpy flux based on conditions at the wall is

(a) U GEM/Nusselt number
(b) Wiga §=/Prandtl number

(c) ¥eTTEN/Stanton number
(d) Hie SBReynolds numbers

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134801 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ARG MG ul diel & Rl B SR W a1l Tiedt SifyaTg g1 Udgl i Sl Sakyl Bl Ty

AT, .8

Similarity parameter which normalizes the convective wall heat transfer by the
external flow enthalpy flux based on conditions at the wall is

(a) =i g=MNusselt number
(b) Wigd ¥=A/Prandtl number

(c) ¥eddwStanton number
(d) I g=Reynolds numbers

Options :
1.a
2.b
3.c
4.d



Question Number : 27 Question Id : 7715134802 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqqq fowsi 7<= (EDM) # soR . A fffa g

In Electro-discharge machining (EDM) the tool is made of

(a) didlCopper
(b) 3= dTI™E/High speed steel
(c) eudidigl/Cast iron
(d) wH A ga/Plain carbon steel
Options:
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134802 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqqq fowsi 7<= (EDM) # soR . A fffa g

In Electro-discharge machining (EDM) the tool is made of

(a) didlCopper
(b) 3= dTI™E/High speed steel
(c) eudidigl/Cast iron
(d) wH A ga/Plain carbon steel
Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134803 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{55 ST &1 FAR18T0 S o FeT0 Wt Sl A= e o .8

The most common limit gauge used for inspecting the hole diameter is

(a) wTHEMIPlug gauge
(b) AR YH/Master gauge
(c) "uwE/Snap gauge
(d) fEUE@RIng gauge



Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134803 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fivg oy &1 FR1&0 A o feTw wad sicdd g g ot

The most common limit gauge used for inspecting the hole diameter is

(a) w@yHMI/Plug gauge
(b) HR yHM/Master gauge
(c) HuwHM/Snap gauge
(d) fETvdiRing gauge
Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134804 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIRTI 3if¥cid TaTd & Sibig/Across a standing normal shock, the
dIqHH/Temperature

Hdeadl qld/Stagnation Pressure
amVelocity

Td/Density

a) W, dfg, 3is FWDecrease, Increase, Increase, Decrease
b) i<, 39, 3, gig/Increase, Decrease, Decrease, Increase
c) f@R, R ¥¥, gfe/Constant, Constant, Decrease, Increase

)

d) SuE ¥ Y i Tel/None of the above

Options :

(
(
(
(

1.a
2.b
3.c
4.d



Question Number : 29 Question Id : 7715134804 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIRTI 3if¥cid TaTd & Sibig/Across a standing normal shock, the
diqH-/Temperature

HIe&dl qld/Stagnation Pressure

amVelocity

Yid/Density

a) @MW, dfg, 3is FWDecrease, Increase, Increase, Decrease
b) dfs, 39, 39, 9f</Increase, Decrease, Decrease, Increase
c) R R 79, gfg/Constant, Constant, Decrease, Increase

)

d) SW& T Y Pl Fel/None of the above

Options:

(
(
(
(

1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134805 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P arqaH e 30 At drer, 122 . et 20 . da 81 3t vard o1 fpfeaa fvea diaa a@

28.3 MPavm & w1 65 fi . didft dhsfi orgore 35 3, ot el faweren o fore & Wi fean
g

An aircraft fuselage is 30 mm thick 122 m wide and 20 m long. If the critical stress

intensity factor of the material is 28.3 MPavm and if a 65 mm long central transverse
crack is present, what will be the tensile stress for catastrophic failure?

@ =2
V21 x 65

(b) 283xV2rx65

283

€ mxez
(d) 28.3x Vx5

Options :
1.a



2.b
3.¢C
4.d

Question Number : 30 Question Id : 7715134805 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P arqaH e 30 At e, 122 . dier o 20 . da 31 3t vard ol fpfeaa fvea diaa a@

28.3 MPav'm & 7u1 65 f. . it dhsfi ooy 3 8, <t el faweren & forw & wioet e
g
An aircraft fuselage is 30 mm thick 122 m wide and 20 m long. If the critical stress

intensity factor of the material is 28.3 MPay'm and if a 65 mm long central transverse
crack is present, what will be the tensile stress for catastrophic failure?

R
V21 x 65

(b) 28.3x V2mx 65

283

€ ez

(d) 28.3xVmx65

Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134806 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

v H ATUHM SR 5y GE o GRI Ge I o Gl 82
Temperature embrittlement in material can be determined by which test?

) I dUAEH R & W/ Tensile test at high temperature
) ®ITWIE/ Creep test

c) 9 M R ¥ug Wigvl/ Impact test at high temperature
) BRI e/ Hardness test



Options :
1.a
2.b
3.C
4.d

Question Number : 31 Question Id : 7715134806 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U H I TR o T8 5 GR1 g o 9ad 87
Temperature embrittlement in material can be determined by which test?

(a) O QUMM W TEm/ Tensile test at high temperature
(b) PIUTIE/ Creep test

(c) S AHM W HYE W&/ Impact test at high temperature
(d) oIk TET/ Hardness test

Options :

1.a

2.b

3.C

4.d

Question Number : 32 Question Id : 7715134807 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



1 vo T ve HA: ISH Tid U4 P oie B i &, che 31 A1Gd Gl 71 87

If vo and ve are the flight speed and speed of exit jet respectively, what is the
propulsive efficiency of a rocket?

vo
(a) ﬂ
1+ (vo/ve)?

ve
(b) 2 { v??e 2 ]
1+ ()
2(ve/vo)
1+ (ve/vo)?

[
o ol
ve

Options:

1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134807 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



1 vo T ve HA: ISH Tid U4 P oie B i &, che 31 A1Gd Gl 71 87
If vo and ve are the flight speed and speed of exit jet respectively, what is the
propulsive efficiency of a rocket?

vo
@ e

1+ (vo/ve)?
v
(b 2{ ”‘;eg]
1+(50)
2(ve/vo)
g 1+ (ve/vo)?
1 va
(A g{ o 2]
1+ (5e)
Options:
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134808 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PO Seal Brd H Fgffed 7 9 $H-A W1 87

Which of the following is true in Kronecker delta function

(@) & U= Ui
(b) &j is isotropic tensor
(c) Eik Ekm = i djm - dimdj
(d) SwdaE w4/All of the above
Options:
1.a
2.b
3.C

4.d



Question Number : 33 Question Id : 7715134808 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PG Seel S H e H 9 o9 gl 27

Which of the following is true in Kronecker delta function

(a) d8jU=Ui
(b) &j is isotropic tensor
(c) Eik Ekm = B Ojm - Simdj
(d) Swda w/All of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134809 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfeied H O M- AH ied T8l 7

Which one of the following is not a mono-propellant?

(a) TSI/ UDMH (3Rmfd STsfHuid sgivi/lUnsymmetrical dimethyl hydrazine)
(b) ETEgISH WIFTES / Hydrogen peroxide

(c) Ui 3fiwss / Ethylene oxide
(d) TEIHUA/ Nytro methane

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134809 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Fafed H 8 M- AF ied Tel &2

Which one of the following is not a mono-propellant?

(a) %EUATd/ UDMH (3ramfivd S egrei/Unsymmetrical dimethyl hydrazine)
(b) @SS IR / Hydrogen peroxide
(c) Ui 3iiss | Ethylene oxide
(d) TSI A/ Nytro methane
Options :
1.a
2.b
3.C

4.d

Question Number : 35 Question Id : 7715134810 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MR fovg R o fgfafed o O oH-91 ords HeH 52

Which of the following is interference fit in the basis hole system?

(a) H7/h6
(b) H7/p6
(c) H7/g6
(d) H7/k6
Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134810 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MR fvg R § Fgfafed & O oH-91 ords HoH 52

Which of the following is interference fit in the basis hole system?

Options :
1.a



2.b
3.¢C
4.d

Question Number : 36 Question Id : 7715134811 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fergfee & 0 S -9 YEite U Wigq e TR0 3 e i 87

Which of the following correction factor is used in Prandtl Glanert transformation?

Cpo
a) Cp=
(@) Cp T

C Cpo
e — p)
(b) T L
14V1-M2
Cpo
c) Cp= —
€ Cp= 7=

(d) Iwe H Y B TEl/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134811 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



PR 3 .1 S 10 i S TR T 8 2

Which of the following correction factor is used in Prandtl Glanert transformation?

Cpo
4 e —
@ Cp= ==
C Cpo
e — Z
(b) Vi-mZ 4520
2 "14/1-M2
Cpo
c) Cp= ——
G Bpr s
(d) Swid Y @r Tel/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134812 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oY o Yq Rifeist d # SfiaRe gd P & BRI dld &1 Hics 1 & SR YHE 0  faakd sreed

wiowd g

In a closed cylinder of diameter d, the longitudinal stress distributed uniformly over the
wall thickness ‘t' due to internal pressure Pis ............

(a) Pd
2t
(b) Pd
4t
(c) Pd
8t
(d) SwE A Y@ Ta/ None of the above
Options :
1.a
2.b

3.cC



4.d

Question Number : 37 Question Id : 7715134812 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aqmaﬁﬂqamﬁa%' d 7 3fidRe gd P & BRI dld 31 Al T & SR YHH 9 Y fadkd sced

ufded

In a closed cylinder of diameter d, the longitudinal stress distributed uniformly over the
wall thickness ‘t' due to internal pressure Pis ............

(@) Pd
2t

(b) Pd
4t

(c) Pd
8t

(d) SwEHY B Ta1/ None of the above

Options :

1.a

2.b

3.c

4.d

Question Number : 38 Question Id : 7715134813 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aﬂﬁ?wﬁmﬂiwmﬂﬁmﬁﬁﬁ@mm&imwHﬂﬁdqjﬁumﬁ‘ﬂf
__________ |

Wave length corresponding to the maximum value of monochromatic emissive power
as per Wein's displacement law is ............

I:El} ?-.max oT
(b)  Lmax = Constant

(c) | 1
A =
max T

(d) 3w H ¥ SIS T2l / None of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134813 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aﬂﬁgﬁﬂuﬂﬁm%aﬁnwﬂﬁ(ﬁmﬁﬁaﬂmm&?mwHrrr%dj@um’a‘ﬂf
__________ |

Wave length corresponding to the maximum value of monochromatic emissive power
as per Wein's displacement law is ............

I:El} ?-.max oT
(b)  Lmax = Constant

(c) | 1
A =
max T

(d) 3w H ¥ SIS T2l / None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134814 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TaTg & H yftrar @) ud uRn & Gy A Ffifa d Y e -a a2

Which of the following is true in vorticity and circulation in flow field?

@ o=Vxu
(b) V.o=0

d
) 0= Sijk dixf

(d)  Ida Tt/ All of the above



Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134814 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TaTg &7 § YiTera @SR Ud uReRu & ey H i § § e ae 2

Which of the following is true in vorticity and circulation in flow field?

@ ©=Vxu
(b) V.o=0

d
) 0= Sijk di;

(d)  Iudad @it/ Al of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134815 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 TR o 71 82

What is underexpanded nozzle ?

a) fFATE> dRIaE/ Exit pressure > External pressure
b) AT < SRIEE/ Exit pressure < External pressure
c) fig &z agdaeig/ Exit area is very large

d) Swi# H ¥ 3I5 81/ None of the above

Options:
1.a

2.b
3.¢C



4.d

Question Number : 40 Question Id : 7715134815 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 TR lerel 41 87
What is underexpanded nozzle ?

(a) THEE > a’EE/ Exit pressure > External pressure
(b) A e < SIS/ Exit pressure < External pressure
(c) 9 &asgaderg/ Exitareais very large
(d) Iudad ¥ ¥ Bl gl / None of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 41 Question Id : 7715134816 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfiad A 4 Xdbe & 5oAM 30T (MR) Td i SoaAM HIS, ¢ & did H Bi-81 G5 57 My JuA
S0 T Mo YRId 5o H g

Which of the following is true between mass ratio (MR) and propellant mass fraction,
C of a rocket. My is first mass & Mo initial mass.

(a) = 1-MR

(b) MR=MiMo
¢= Mo-M

(c) Mo

(d) I @i/ All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134816 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFrafeifea H 9 Adhe B 5eAM U (MR) T s 5o YHIY, & & did 3 -1 981 52 My e
5o U4 Mo URf¥a oM &

Which of the following is true between mass ratio (MR) and propellant mass fraction,
C of a rocket. Ms s first mass & Mo initial mass.

(a) ¢=1MR
(b) MR=MiMo

B &

(d) 3Iudad @i/ All of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134817 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) TR & TR T & ST B Bich &
Viscosity decreases with continuous application of shear

(b)  SHUETY & TR WM ¥ W §gal

Viscosity increases with continuous application of shear
(c) = fRRR il 8/Viscosity remains constant

(d) 3w H ¥ BI5 T/None of the above

Options :
1.a
2.b
3.c
4.d



Question Number : 42 Question Id : 7715134817 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a)  SHUETY & TR WM ¥ W BH gl §
Viscosity decreases with continuous application of shear

(b)  3TREUVI S AR WM 9§ S gl 3
Viscosity increases with continuous application of shear

(c)  =amal R Tl 8/Viscosity remains constant

(d) 3w H T Br5 El/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134818 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e & ¥ P91 seaied Wl 82

Which of the following is the Helmholiz function?

(a) h-Ts
(b) U-Ts
() U+PV
(d) SwadH ¥ 3I5 78!/ None of the above
Options:
1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134818 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Ffefed & @ oFH-91 seeied Yo 82

Which of the following is the Helmholtz function?

(a) h-Ts
(b) U-Ts
() U+PV
(d) SwdUSIs 781/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134819 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T g o1 AABXXX AUl ERGIERES

AABXXX series of aluminium alloys belong to ............

(a) Al-Cu system
(b) Al-Cu-Mg system
(c) Al-Mg-Sisystem
(d) Al-Zn-Mg system
Options :

1.a

2.b

3.c

4.d

Question Number : 44 Question Id : 7715134819 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T fseng @ AAGXXX ATt EREIRG

AABXXX series of aluminium alloys belong to ............

(a) Al-Cu system

(b) Al-Cu-Mg system
(c) Al-Mg-Sisystem
(d) Al-Zn-Mg system
Options :

1.a



2.b
3.¢C
4.d

Question Number : 45 Question Id : 7715134820 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@Hﬂﬂﬂﬂﬂ;@ﬂﬁﬁiﬂﬁwﬂquﬁmwﬁﬁﬁﬂmﬂmﬁ$ﬁmm

Transformation used to map a circle into an aerofoil like shape and determine it
properties is ..............

(a) =Ry fae@ / Blasius solution
(b) & THiau/ Conformal transformation
(c) WP ®URY/ Zhukhovsky transformation
(d) TeRie Wiawed / Galerkin approximation
Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134820 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wgaﬁwmﬂ%ﬁmﬁmwwmwﬁﬁﬁmmﬁﬁum
Transfo'r-ﬁiéﬁ-on used to map a circle into an aerofoil like shape and determine it
properties is ..............

(a) egd fawd / Blasius solution
(b) 3EUd TUi@u/ Conformal transformation
(c) WP ®uiR/ Zhukhovsky transformation
(d) TeRioA Wiawed / Galerkin approximation
Options:
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134821 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
a1 ‘e geliadt fagpfa wd € qund fogpfa @ o Pafafea o 9 ot e @7

Which of the following is true if ‘e’ is engineering strain & ‘€’ is true strain

(a) €=In(e-1)

(b) €=In(e+1)

(c) e+E=1

(d) Swid H ¥ Pz 5l / None of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134821 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e ‘e’ el fagfa wd € qund fagfa & ot Fafafed 78 oH-w w6t 82

Which of the following is true if ‘e’ is engineering strain & ‘€' is true strain

(a) E=In(e-1)

(b) E=In(e+1)

(c) e+E=1

(d) 3w o T P52l / None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134822 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) L2T

(b) L2T

() MLT

(d) Swad ¥ Y@L e/ None of the above

Options :



1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134822 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) LT

(b) L2T

() MLT

(d) SwaH Y 3L TEl/ None of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 48 Question Id : 7715134823 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR P, 51q & o D W SqRa I d % 9 8 3 o v (§iew) & AR e g
Brinell hardness numbers (BHN) is expressed in terms of load P, diameter of ball D
& diameter of indentationsd as ..............

p
@) @y + V5=

F
N

p
& @yp 4o

(d) Iwa HY@Is TeiNone of the above

Options :
1.a



2.b
3.¢C
4.d

Question Number : 48 Question Id : 7715134823 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R P, s & or D U Sqal oI d & e gl ol e (e 9t A eRim o g
Brinell hardness numbers (BHN) is expressed in terms of load P, diameter of ball D
& diameter of indentationsd as ..............

P
(D + VD% - d?)

o

P
Y &o-wr-a

P
)(D +VD? + d?)

(c) [%

(d) 3wd HY@Is TelNone of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134824 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



dI0HH & dg- & 91y, I Pl AU aaedl § gl 8

As the temperature increases ,the thermal conductivity of a gas

(a) df&/Increases
(b) 3/ Decreases

(c) fRAZ/Remains constant

(d) U FiYd ATHH 70 Sedl & 7ul R &4 51 ol 8
Increases up to a certain temperature and then decreases
Options:
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134824 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dI0HH & d¢- & 91y, I Pl A aaedl § gl 8

As the temperature increases ,the thermal conductivity of a gas

(a) df&/Increases
(b) 3/ Decreases

(c) fRAZ/Remains constant

(d) U FiYd ATHH 70 Sedl & 7ul R &4 51 ol 8
Increases up to a certain temperature and then decreases
Options:
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134825 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



(a) S/ Fuel
(b) §¥®/Binder
(c) 3HiFfiERS / Oxidiser
(d) 33R®/ Catalyst
Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134825 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) A/ Fuel

(b) ¥/ Binder

(c) 3iFiiERS / Oxidiser
(d) 33R®/ Catalyst
Options :

1.a

2.b

3.c

4.d

Question Number : 51 Question Id : 7715134826 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U SRl &1 Udl TTH & {0 S8 T8I db-id &1 SUaHT il St 82

Which NDT technique is used for detecting surface discontinuity?

) fafa=u feem witen / Radiography testing

) TRIYe YA §F e/ Ultrasonic normal beam testing
c) Ha YRITI&T/ Eddy current testing

) b Ia W& / Acoustic emission testing

Options:



1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134826 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U el 1 el TH & (U IH-Y TIEIE! daHic &1 U o1 ol 82

Which NDT technique is used for detecting surface discontinuity?

(a) fafesor feram wiem / Radiography testing
(b) TR T & TEm/ Ultrasonic normal beam testing
(c) o emTudiem/ Eddy current testing
(d) @@ Jui G&/ Acoustic emission testing
Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134827 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) TRAY 4w AHe / Non-air breathing rocket
(b) dgHaHdHe/Air augmented rocket
(c) fGgd e wuet / Electric propulsion  system
(d) Suda #YPIS Tl / None of the above
Options:
1.a
2.b
3.¢
4.d

Question Number : 52 Question Id : 7715134827 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



(a) TRAY 4w AHE/ Non-air breathing rocket
(b) TG HaHdHe/Air augmented rocket
(c) fdegd e wumelt / Electric propulsion  system
(d) Suda FYPIS Tl / None of the above
Options:
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134828 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gelae I A Ao JUNG® ... @1 fafy a7 I 9% 9ad &
Electron-ion propulsion thrusters can achieve a specific impulse of

(a) 3000s
(b) 300s
(c) 30s
(d) 3s

Options :

1.a

2.b

3.c

4.d

Question Number : 53 Question Id : 7715134828 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SeldeI T Ao e® . @1 fafIy a7 I X 9ad &
Electron-ion propulsion thrusters can achieve a specific impulse of

(a) 3000s
(b) 300s
(c) 30s
(d) 3s

Options :



1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134829 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) AU fawRURTcdr ¥ SerHH fewuriic / Thermal diffusivity to mass diffusivity

(b)  SINH! T Y SHUGEH TR o /
Kinematic viscosity to molecular diffusion coefficient

(c) e SarTaT ¥ g faWRuRiiadl / Dynamic viscosity to mass diffusivity
(d) ST FYDIETel/ None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134829 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a)  aUE fawRURTcd ¥ SeqHH femuriic / Thermal diffusivity to mass diffusivity

(b)  UVICTH! ST U UG IR0 07 /
Kinematic viscosity to molecular diffusion coefficient

(c) e SaraT ¥ soum fdwRuriiadr / Dynamic viscosity to mass diffusivity
(d) ST H AP Tel/ None of the above

Options:
1.a
2.b
3.c



4.d

Question Number : 55 Question Id : 7715134830 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 19 dIdTaRu H g fdqyd wonferat . 8

Electrical systems used in flammable gas environment are

) ad: QEd fren / Intrinsically safe system
b) fqemTed qw fwen / Explosion proof system
¢) adbiHi/Bothad b

d) ST AL I/ None of the above

Options :

(
(
(
(

1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134830 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e 19 dIdTaRu H g fdqyd wonferat . 8

Electrical systems used in flammable gas environment are

a) ¥qa: QU&d f5%eq / Intrinsically safe system
fqpleds w f%ed / Explosion proof system

(
(b)
() adba/Bothad b
(d) SWdd § ¥ @5 761 / None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134831 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



gﬁfﬁﬂ%ﬁﬁﬂ@%ﬁﬂﬁﬁﬂﬂfgwﬁ@%mﬂmﬁaw%wﬁ ________

The ratio of the mass of air passing outside the cone of a turbo fan engine to the
mass flow through the cone is called ..........

@50 31 / Bypass ratio

(a)

(b) Ae® &/ Propulsive efficiency
)
)

fEr8ror 3T / Mixture ratio
a1 FUIA qédl / Air conversion efficiencies

(c
(d

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134831 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%E%T%mq%ﬂgﬁmﬂﬁﬁémwﬁm@%mﬂmﬁawﬂiwﬁ ________

The ratio of the mass of air passing outside the cone of a turbo fan engine to the
mass flow through the cone is called ..........

5T 301 / Bypass ratio
Aicd c&al / Propulsive efficiency

fRrgor 3T / Mixture: ratio
a1 SR q&dl / Air conversion efficiencies

(a)
(b)
(c)
(d)
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134832 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e, &1 o U1 Weld 5 T Bl oTg 1 T Ga b 36-UT T ol g, dl AUbe . G

If the centre of pressure and centre of mass are located in the same place or very
near to each other, then the rocket will be ........

3SH # =15 / Stable in flight

a)
) 3IsHH 3R / Unstable in flight
)
)

b
c
d

Qe Wl 141d 781/ No effect on stability
J07d ¥ U Bls el / None of the above

Options :

(
(
(
(

1.a
2.b
3.¢C
4.d

Question Number : 57 Question Id : 7715134832 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e, &7 g, U1 Weil s U 51 oG 41 U ok  19-UF T &1 §, dl Aabe . BT

If the centre of pressure and centre of mass are located in the same place or very
near to each other, then the rocket will be ........

(a) ISHH®E/ Stable in flight

(b)  ISHH 33/ Unstable in flight

(c) @@ WaN uHE e/ No effect on stability
(d) Swid dY®I5 el / None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134833 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T e 9% a1 B 9% 50°C T4 350°C & 39 e gl 8| 371 aaidl Ns T Ne 8, Fefafea
HUDH-I TR 52

A Sterling cycle and a Camot cycle operate between 50°C and 350°C. Their
efficiencies are Ns and Nc , which of the following is true?

(@ Ms>MNe
(b) Ms=MNe
(€) Ms<MNe
(d) @ME®HR WA R ABidDepending on the working fluids
Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134833 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TG I 9% qUl P 3 50°C T 350°C ¥ § eI 81 81 379 ae Ns T N3, Fafia
EREIERY R )

A Sterling cycle and a Camot cycle operate between 50°C and 350°C. Their
efficiencies are s and ¢, which of the following is true?

(@) MNs>Ne
(b) Ms=Ne
(c) MNs<Ne
(d) ®RSR Rd R 3fid/Depending on the working fluids
Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134834 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



YA & WaIoH Y & H-41 A1 dgqd 39 §d1 27

Which thermocouple is made of Rhodium-Platinum Combination?

(a) KUaR/type
(b) JUIR/type
(c) NUDR/type
(d) SUBR/type
Options :

1.a

2.b

3.C

4.d

Question Number : 59 Question Id : 7715134834 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I STH e o GaioH Y D91 10 dgqd 3 &1 62

Which thermocouple is made of Rhodium-Platinum Combination?

(a) KUdR/type
(b) JUPR/type
(c) NUBR/type
(d) SUBR/type
Options :

1.a

2.b

3.c

4.d

Question Number : 60 Question Id : 7715134835 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



o senfed e & fou amcs

Criteria for fracture based design

(@) K¢ 499
oy

(b) Kicy 499
ay

(€)  ovma>Ki

(d) TTHYDE TEINone of these

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134835 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 2T S & fo AMGS

Criteria for fracture based design

(@) K¢ 409
ay

(b)  Kicy 499
ay

(€)  ovma >Kic
(d) MU dl TelNone of these

Options :
1.a
2.b
3.c
4.d

Aptitude Test



PartI

Question Number : 61 Question Id : 7715134836 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T8 BH-91 Uiafde 3, 1 Uy g &l viawafi s

What is the image which will replace the question mark?

1 0o o
] [ O |0
0 oo | 000000
@ 0O
0oo
O
() (O]
O O
O
© (O
gdo
[n
o 000
Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134836 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



T8 BH-91 Uiafde 3, 1 Uy g &l viawafi s

What is the image which will replace the question mark?

1 0o o
] [ O |0
0 oo | 000000
@ 0O
0oo
O
() (O]
O O
O
© (O
gdo
[n
o 000
Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134837 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



®1--91 foA faws 8/Which figure is odd one out?

-*0D+:@E]
B-+-:@[§]D0
¢l D@z0+
Dz@m IR s

Question Number : 62 Question Id : 7715134837 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



®1--91 foA faws 8/Which figure is odd one out?

0D+:@[§

EIOEER

S D\@30+

z(j@[ﬂ ¢ * O

Question Number : 63 Question Id : 7715134838 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

AUGUST Tieg &l Had 3y Hild ¥ oad PR-dial Weq gHT:

Choose the word which best expresses the meaning of the word, AUGUST

(a) Common
(b) Ridiculous
(c) Dignified
(d) Petty
Options :

1.a

2.b

3.c

4.d

Question Number : 63 Question Id : 7715134838 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0

AUGUST Tsq I Jad 3wy did ¥ dd PRIl Usg AT
Choose the word which best expresses the meaning of the word, AUGUST

(a) Common
(b) Ridiculous
(c) Dignified
(d) Petty

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134839 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

R Fdeelfar 43 g, d SWdd &Y BI 99q DI

If Myopia: Eye, select the suitable statement

(a) W6X MY : ATHEM/ Gastritis : Stomach
(b) Mg : ﬂﬁf[)ialysis : Kidney
(c) dEPI-BIP@T : ARASH,/Neuron @ Brain
(d) &HOdq : a'Tﬂ?T'?TIRespiratiDn: Lung

Options:
1.a
2.b
3.¢
4.d

Question Number : 64 Question Id : 7715134839 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

R FdweePd: = 8, d Iugdd HYT I 989d B

If Myopia: Eye, select the suitable statement

(a) WX UMY : ATHEA/ Gastritis : Stomach
(b) 3MOiET : ﬂﬁfDialysis . Kidney
(c) dEAPI-BIR@T : ARTH/Neuron : Brain
(d) %% : WWHSl/Respiration: Lung

Options :



1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134840 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Ui Wl § daiH ¥ Yo'l & MG & WuhE BRU, e W oH @ W
0SS Hel ol HAUD! & HYH B WYHS SRV I8 & i 80 & 11 96 § JAUD &
o uRRfaal § @i QUR 87 gl & aUl 30 dad, o UMR P dad T Y gel
el 1 fofifed 4 ¥ oF-1 oy, 9 Tel 8l df, SWH odl & 99y Wel 9u
T 87

Toughened hiring standards have not been the primary cause of the present staffing shortage in
public schools. The shortage of teachers is primarily caused by the fact that in 11 recent years
teachers have not experienced any improvements in working conditions and their salaries have

not kept pace with salaries in other professions. Which of the following, if true, would most
support the claims above?

(a) 1B W o< & 70 A0CS & Iad, TG AU, U H Ugd ¥ TG o3 Sd!
& 9G4 DI FHG HH g
Many teachers already in the profession would not have been hired under the new hiring
standards.

(b) UG & P Hoihel, WIGIR HANUD FwR RiGd @ ¥ 3d gl
Today more teachers are entering the profession with a higher educational level than in
the past.

() TS HEUD A Aoy H oH @] FdN AUGsl dl dHH €6 Joudl & T @l
RO Tl 3|
Some teachers have cited higher standards for hiring as a reason for the current staffing
shortage.

(d) D3 S 3 B dad qU AGYIAS WoaAd B HH Bl UM SIS & SR Tl
gl
Many teachers have cited low pay and lack of professional freedom as reasons for their
leaving the profession

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715134840 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Ui &pdl # daHH ©H Yo'l & MG & WuES BRU, e W oH @ wad
AEs el 81 HEUD! & HMMIE P UG RU 95 § B o & 11 dW H SfEd &
o URRfqal § @iy QUR 6T gofl § aUl Sd dad, o UM & dad ¥ Y del
Tol ¢ Feffed # 9 oH-91 oY, ol Wl 8l o, SUYed el $1 Hed e gHl
ol &7

Toughened hiring standards have not been the primary cause of the present staffing shortage in
public schools. The shortage of teachers is primarily caused by the fact that in 11 recent years
teachers have not experienced any improvements in working conditions and their salaries have

not kept pace with salaries in other professions. Which of the following, if true, would most
support the claims above?

(a) 1B W - & ¢ AUCS § Iad, TG AUH, U H Ugd § TFd &3 ud!
& TG BT YU B 3
Many teachers already in the profession would not have been hired under the new hiring
standards.

(b) Tgd & Hbra Hudd, R HHUG JaN e T ¥ 3Hd
Today more teachers are entering the profession with a higher educational level than in
the past.

() 8 HUD 4 Fod § o B IR AUCs] S 940 €6 Jowl & AHE FI
®RU g )
Some teachers have cited higher standards for hiring as a reason for the current staffing
shortage.

(d) ?ﬁa{mmﬁﬁmaaqwmmﬁmmﬂaﬁmaﬁsﬂ@aﬂawm

I

Many teachers have cited low pay and lack of professional freedom as reasons for their
leaving the profession

Options :
1.a
2.b
3.C
4.d

Question Number : 66 Question Id : 7715134841 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



50 @ o ¥ (0 @ fdhd & ®U § @MW X % & IR AR fop! Tt 3t
TEM U 3 | ol Jiadd SRV @ dog ¥ 31d H oM &M W 9F dfEd T w
% 4 fofis TRUMEEY HUs B e § fRge o €1 39 offoRad, dei | uRadd
@ qag ¥ Uk M @) fowl gem o o B g 1 o Five, o d g @
NG T 3FCET T §U AUF W6 A9 B W W @1 gt 350 @81 3
o IR o PR ) I G s B0

You have been working as a salesperson for the past year and have consistently achieved great
sales numbers. Due to personal reasons, you have recently been unfocused at work and as a result
your work performance has declined. Additionally, due to changes in the market, the sales figures
of your team have decreased as well. Your director does not seem to be taking the changes in the
market into account and is blaming your poor performance on poor leadership on your part. What
would you do and why? Choose the best option.

(a) oM Fe¥® & ool ol IR & SR H SaI@ Q1 A9 & W9 FYeT &
fow &mn w1 S@ o9 o foU o, $@ R @ ggl @ AT B
You explain your personal situation to the director and apologise for the decline in the
performance of your team. You ask to take a few days off to recuperate.

(b) MU T Jufdae URRUR & H1 ¥ e &1 Ful ot qur oRhadTdia d@s1 &
MY 92 & U o ey FeTel § mme 3|
You make a decision to put aside your personal situation and consult other sales directors
regarding their ways of coping with a volatile market. You devote yourself entirely to your
work.

() oMU Me¥@ P 71 H g1 W URGAl & 9R H @Td HAG! Ul FEe 1
fowl ¥ QUR aH & o 39 o o9 off 61 foar o 9o
You update the director on the changes in the market and explain that there is nothing
that can be done at the moment to improve sales.

(d) 37 3d &H & Yl Bl IS WE Fued » U el AR A A Bl ®
URadH & SF®Y U, W &xd 9 fawy dedl &t fufa s

You scold your team members for their poor performance and set new, more attainable
sales targets in line with the changes in the market.

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134841 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



50 @ o ¥ (0 @ fdhd & ®U § @MW X % & IR AR fop! Tt 3t
TEM U 3 | ol Jiadd SRV @ dog ¥ 31d H oM &M W 9F dfEd T w
% 4 fofis TRUMEEY HUs B e § fRge o €1 39 offoRad, dei | uRadd
@ qag ¥ Uk M @) fowl gem o o B g 1 o Five, o d g @
NG T 3FCET T §U AUF W6 A9 B W W @1 gt 350 @81 3
o IR o PR ) I G s B0

You have been working as a salesperson for the past year and have consistently achieved great
sales numbers. Due to personal reasons, you have recently been unfocused at work and as a result
your work performance has declined. Additionally, due to changes in the market, the sales figures
of your team have decreased as well. Your director does not seem to be taking the changes in the
market into account and is blaming your poor performance on poor leadership on your part. What
would you do and why? Choose the best option.

(a) oM Fe¥® & ool ol IR & SR H SaI@ Q1 A9 & W9 FYeT &
fow &mn w1 S@ o9 o foU o, $@ R @ ggl @ AT B
You explain your personal situation to the director and apologise for the decline in the
performance of your team. You ask to take a few days off to recuperate.

(b) MU T Jufdae URRUR & H1 ¥ e &1 Ful ot qur oRhadTdia d@s1 &
MY 92 & U o ey FeTel § mme 3|
You make a decision to put aside your personal situation and consult other sales directors
regarding their ways of coping with a volatile market. You devote yourself entirely to your
work.

() oMU Me¥@ P 71 H g1 W URGAl & 9R H @Td HAG! Ul FEe 1
fowl ¥ QUR aH & o 39 o o9 off 61 foar o 9o
You update the director on the changes in the market and explain that there is nothing
that can be done at the moment to improve sales.

(d) 37 3d &H & Yl Bl IS WE Fued » U el AR A A Bl ®
URadH & SF®Y U, W &xd 9 fawy dedl &t fufa s

You scold your team members for their poor performance and set new, more attainable
sales targets in line with the changes in the market.

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134842 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Pride, lion & ﬁlﬁ ar %, Al shoal

Pride is to lion as shoal is to

(a) Teacher

(b) Student

(c) Self-respect
(d) Fish

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134842 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Pride, lion 7] ﬁl@ ar %, S shoal ... ... & ﬁﬂ;’ %’I

Pride is to lion as shoal is to

(a) Teacher
(b) Student

(c) Self-respect
(d) Fish

Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134843 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Yy fag @l BH UfaRIUd B/ Which one will replace the question mark?
21 31 39 46 16 83
52 85 5
(a) 92
(b) 72

(c) 62
(d) 99

Options :
1.a
2.b

3.cC
4.d

Question Number : 68 Question Id : 7715134843 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Yy fag @l BH UfaRIUd B/ Which one will replace the question mark?
21 31 39 46 16 83
52 85 5
(a) 92
(b) 72

(c) 62
(d) 99

Options :
1.a
2.b

3.cC
4.d

Question Number : 69 Question Id : 7715134844 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



®HY-/Statements:

gui U_a'l?:p( wyEf o {I}Jﬁﬂ ﬁg %f’AII hill stations have a sun-set point
X, Udh Uglel ®TH §/Xis a hill station
%5/ Conclusions:
(i) X H lflm fig 8/X has a sun-set point.
(i) TETS! WA B BlsdX T el # Y fdgl T ®
Places other than hill stations do not have sun-set points.
(a) &ad Ty (i) Tel %’x’[}nly conclusion (i) follows
(b) aa fspY (i) Tl &/Only conclusion (i) follows
(c) (i) T (ii), HEl ©/Either (i) or (ii) follows
(d) (i) 3R (ii), & F&I §/Both (i) and (ii) follow

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134844 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DY/ Statements:

gui UEIEP( wyE | H}Jfﬁ ﬁg %f’AII hill stations have a sun-set point
X, UP U8l WVH §/Xis a hill station
%54 / Conclusions:
(i) X ¥ T fdg §/X has a sun-set point.
(i) SIS WAl Bf Bl 7 Wl ¥ YW figl T R
Places other than hill stations do not have sun-set points.
(a) had ey (i) el %’f"Dnly conclusion (i) follows
(b) Haq sy (i) el %fﬂﬂh‘ conclusion (i) follows
(c) (i) T (i), Wel &/Either (i) or (i) follows
(d) (i) 3R (i), &I "Wl &/Both (i) and (ii) follow

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134845 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



g R o YR dd W 4R 999 3f¥d g

In which situation is the weight pushing down on the supporting pole is the highest?

a %

(a) TRFRUM A/Situation A

(b) ORI B/Situation B

(c) ol ot § @ HHIH/Equal in both situations
(d) AUl B, E'ﬁf uitfRyfeat # :IEpffNeitherﬂ nor B

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715134845 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g oRRUfd 7 YR @9 W YR 9a9 @ g

In which situation is the weight pushing down on the supporting pole is the highest?

a S

(a) URFRUM A/Situation A

(b) ORI B/Situation B

(c) ol ol § @ HHIH/Equal in both situations
(d) A 4 B, E'ﬁf uRtfRyfoat # :IEPffNeitherﬂ nor B

Options :
1.a
2.b
3.c
4.d



Part II

Question Number : 71 Question Id : 7715134846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TP W1 4 359 @1 M B SR 38 5 defedl # 1 qur & @8l H 1 HE
AU P @ 3 Y87 d 4 39T H YT oA @ R fha §2

An institute organised a fete and 1/5 of the girls and 1/8 of the boys participated in the same.
What fraction of the total number of students took part in the fete?

(a) 2/13

(b) 13/40

(c) 3¢ HPUE/ Data inadequate
(d) ﬁ:lﬁ q fﬁ% 51/ None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U6 UR_)1 4 I9d 1 Ao a1 3R 399 s defodl § 1 qUl ¢ d8@l § 1 9 HA
fore) od Il @ 98 # ¥ 3&d H 4T dHdid @1 3 fbdr 82

An institute organised a fete and 1/5 of the girls and 1/8 of the boys participated in the same.
What fraction of the total number of students took part in the fete?

(a) 2/13

(b) 13/40

(c) 821 AU/ Data inadequate
(d) ﬁﬁ g a?lﬁ 5l /None of these

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DY/ Statements:
Udd HAl O @[E %f;”Every minister is a student.
PRECIE] GHW_@:I %vaery student is inexperienced.
f%BY/ Conclusions:
(i) Udd HAl gHdEH &/ Every minister is inexperienced.
(ii) [ \}I_:I,‘J-i_cl_‘ﬁﬁ:[, GIE %;’Some inexperienced are students.

(a) Had fspy (i) Tal %;“'Dnl'f conclusion (i) follows
(b) Sad @Y (i) Fal &/Only conclusion (i) follows
(c) (i) 41 (i), Hel ©/Either (i) or (ii) follows

(d) (i) 1 (ii), &HT TSI §/Both (i) and (ii) follow

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DY/ Statements:
PRIGRCE] T B g;”Every minister is a student.

PREEEIE Glﬁ‘lﬁ_sﬁ:l %EEUEW student is inexperienced.
B/ Conclusions:

(i) PRIGRE| GIE[‘J-IEEFF[ %’;’Even_.f minister is inexperienced.
(ii) [ &I_:I,‘]-Fcl_fﬁ:[, EIE %;"Some inexperienced are students.

(a) $aq spy {i}'\qﬁ %;’Dnly conclusion (i) follows
(b) ad B (i) WEl §/Only conclusion (i) follows
(c) (i) A1 (i), el %EEither (i) or (ii) follows
(d) (i) 1 (ii), &Hl Gl &/Both (i) and (i) follow
Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frofifEd faect # ¥ ‘EVASIVE' Teq o1 faam T gRT

Choose one of the following options that means the opposite of word; EVASIVE

(a) Free

(b) Dishonest
(c) Liberal
(d) Frank
Options :

1.a

2.b

3.c

4.d

Question Number : 73 Question Id : 7715134848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafiEd fAeedl # ¥ ‘EVASIVE' 9sg &1 faam wsg gHT:

Choose one of the following options that means the opposite of word; EVASIVE

(a) Free

(b) Dishonest
(c) Liberal
(d) Frank
Options :

1.a

2.b

3.¢C

4.d

Question Number : 74 Question Id : 7715134849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
THIDRU 5+6+3-12x2=17 Bl YgI FH & U {69 g 31 dee 72
What sign should be changed to make the equation 5+ 6+3-12x 2 =17, correct?
(a) + @I = ¥ UARUG/+ replaced by =
(b) - @ + ¥ URIAA/- replaced by +
() + @ x ¥ Ufqitd/+ replaced by x
(d) 399 ¥ @5 W T81/None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
THIB 5+6+3-12x2=17 Bl YgI FH & U {6¥ g 31 dea 72
What sign should be changed to make the equation 5+ 6 +3-12x 2 =17, correct?
(a) + @ = ¥ Ufqitda/+ replaced by +
(b) - D + U ufo=fg/- replaced by +
(c) + @I x ¥ ufawnfud/+ replaced by x
(d) E:Iﬁ P fﬁ% dt 981/ None of these

Options :
1.a
2.b
3.c



4.d

Question Number : 75 Question Id : 7715134850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foA # cRiu gu TR A for e o i e &2

In which direction does the gear marked A rotates?

(a) U3 DI g3yl @I a0 @I [T HClockwise

(b) U Bl 2Tl @I I B f[Wid 6= HiCounter-clockwise
(c) UM 78! &l §/No rotation

(d) At =gl R 48 B/Neither A nor B

Options :
1.a
2.b
3.cC
4.d

Question Number : 75 Question Id : 7715134850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foA # cRiu gu TR A for e o i e &2

In which direction does the gear marked A rotates?

(a) U3 DI g3yl @I a0 @I [T HClockwise
(b) U Bl 2Tl @I I B f[Wid 6= HiCounter-clockwise

(c) UM 78! &l §/No rotation
(d) At =gl R 48 B/Neither A nor B

Options :
1.a
2.b
3.c
4.d

Descriptive



Question Number : 76 Question Id : 7715134851 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Rdhe TR0 & I e HrTel 3 Wad Aieid sifiidbed1 & Y o, sifdsafid yarg wd yuilg
P2 2 1 e O s B 1 e 15 G 17 e e R E K
R YT Sef?

With reference to a nozzle design used in chemical propulsion systems of a
rocket stage, what are the broader considerations w.r.t fluid mechanics and
thermodynamics which are relevant to attaining supersonic flow and thrust?

Question Number : 76 Question Id : 7715134851 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

e TR0 & I e ToTell 5 Ted v Sifiided & Y ¥, sifawate v 16 i
TW B b U U Wa i@ @ SWAldel & Gdy d s srwist
R GBI SIef?

With reference to a nozzle design used in chemical propulsion systems of a
rocket stage, what are the broader considerations w.r.t fluid mechanics and
thermodynamics which are relevant to attaining supersonic flow and thrust?

Question Number : 77 Question Id : 7715134852 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

SfARamH e H W faggd e yunferdl o fafd JoR &I &Y D & PABRI [Gid
1 U B SidRear & for fgyd wile a0f s Suge &7
List different types of electrical propulsion systems used in spacecraft propulsion.

Explain working principles of each of them. Why is electrical propulsion more
suited for spacecrafts?



Question Number : 77 Question Id : 7715134852 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Sfcifveqar et # ygeR faeyd e wonferl o fafdy yeR &1 B | TD B PUDR] Rgid
1 U Y| JHAREAH B 1o fdegd Toile adi s SUgH 57

List different types of electrical propulsion systems used in spacecraft propulsion.
Explain working principles of each of them. Why is electrical propulsion more
suited for spacecrafts?

Question Number : 78 Question Id : 7715134853 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

09 3 (V01E) & SR R agTfae HY0 390 HHR R (1R 1§ Esfenl w6 w6 ad oR &1
YU UiE 0.1 31 el Feeiondl td ©6 & 91y 78 0.8 71 9 f4sfodl 16 ¥ & 1Y 1@ IR
44 T 1. v §¢ @1 i 9 el 81 B0 Pl UR S b (U SA1G9d GHH HE & U & g
el fgsfoal td ¥ & Yy SR &1 Tid &1 Gl T (@1 Bcd U4 3 & @I FaR g )
The aerodynamic drag on a sports car depends on its shape. The car has a drag
coefficient of 0.1 with windows and the roof closed. With windows and roof open,
itis 0.8. The car travels at 44km/hr with windows and roof closed. For the same
amount of power needed to overcome the drag find the speed of the car with
windows and roof open (Density of air and frontal area may be assumed to be
constant.)

Question Number : 78 Question Id : 7715134853 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

ﬁanﬁ@ﬁm%wmwﬁmﬁwﬁwmﬁiﬁmﬁmwﬁwﬁwm
Tuic 0.1 1 Qell el td % & 91y 7g 0.8 81 dc fasiodl d 6 & Iy 16 oR
44 Iﬁﬂﬁ Hﬁfﬂﬁﬁ'ﬁﬂﬁl@lﬂﬂ?ﬁ%l U Pl UR B & 1070 HI=GD G A B IR b feiY
el (e Ud ¥ & 91y SR 1 717 &1 Ul I (@ 99 U4 37 & &l RR 1)
The aerodynamic drag on a sports car depends on its shape. The car has a drag
coefficient of 0.1 with windows and the roof closed. With windows and roof open,
itis 0.8. The car travels at 44km/hr with windows and roof closed. For the same
amount of power needed to overcome the drag find the speed of the car with
windows and roof open (Density of air and frontal area may be assumed to be
constant.)

Question Number : 79 Question Id : 7715134854 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



FATTR TR Hiers & Y 3Fd dd 319 e & HR-UR R 1 91 o fot e Jefiavu
ford | T edl RUf x=0, T=TO W x=L, T=TL & 3R R [ORc/u0IeTd ids bl AHH BY|
Write down Laplace equation for Steady heat conduction across an infinite long
solid slab with a finite thickness as illustrated in figure. Determine the analytical
expression based on the boundary condition of x=0, T=T0 and x=L, T=TL

Question Number : 79 Question Id : 7715134854 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

FerTaR ufRffa Aiers & W1 3d dd 31 Tid & HR-UR R 381 91 o oL e gHiau
forg | arded Rufd x=0, T=TO Ud x=L, T=TL & 3R R YU Soids b1 A B
Write down Laplace equation for Steady heat conduction across an infinite long
solid slab with a finite thickness as illustrated in figure. Determine the analytical
expression based on the boundary condition of x=0, T=T0 and x=L, T=TL

Question Number : 80 Question Id : 7715134855 Question Type : SUBJECTIVE Consider As
Subjective : Yes



Correct Marks : 5

%ﬁ%%ﬂiﬁﬁﬂﬁ@ﬂﬁﬁﬂ%ﬁﬁﬁﬂ@ﬁﬁﬂwwmﬁﬁmﬂ
|

From the constitutive equation for a Newtonian fluid and equation of motion,
deduce the general form of Navier-stokes equation

Question Number : 80 Question Id : 7715134855 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

%ﬁﬁ%wwmwﬁw%mﬁﬁw.@ww%wmﬁﬁmﬂ
|

From the constitutive equation for a Newtonian fluid and equation of motion,
deduce the general form of Navier-stokes equation





